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3XML� GDQ� V\XNXU� VHQDQWLDVD� GLSDQMDWNDQ� NHSDGD� $OODK� 6:7�� \DQJ� VHODOX�

PHPEHULNDQ�UDKPDW�GDQ�NDUXQLD�1\D��VHKLQJJD�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�WXJDV�

DNKLU� LQL� GHQJDQ� EDLN�� 6KDODZDW� VHUWD� VDODP� VHPRJD� VHODOX� WHUFXUDK� NHSDGD�

MXQMXQJDQ�EHVDU�NLWD��1DEL�0XKDPPDG�6$:��$GDSXQ�MXGXO�WXJDV�DNKLU�\DQJ�WHODK�

GLVXVXQ�SHQXOLV��\DLWX�´�3HUDQFDQJDQ 6HOI�EDODQFLQJ�7UROOH\ GHQJDQ�0HWRGH�3,'´��

3HQ\XVXQDQ�WXJDV�DNKLU�LQL�PHUXSDNDQ�VDODK�VDWX�V\DUDW�PHPSHUROHK�JHODU�6DUMDQD�

7HNQLN�SDGD�3URJUDP�6WXGL�6��7HNQLN�(OHNWUR��8QLYHUVLWDV�7HONRP��%DQGXQJ�

6HODPD�SHQJHUMDDQ�WXJDV�DNKLU�LQL��SHQXOLV�PHQ\DGDUL�EDKZD�EHJLWX�EDQ\DN�

SLKDN� \DQJ� WXUXW� PHPEHULNDQ� EDQWXDQ�� GXNXQJDQ�� VHUWD� GRD�� 2OHK� NDUHQD� LWX��

SHQXOLV� PHQJXFDSNDQ� WHULPDNDVLK� \DQJ� VHEHVDU�EHVDUQ\D� NHSDGD� VHOXUXK� SLKDN�

\DQJ�VXGDK�WHUOLEDW��6HPRJD�$OODK�6:7�PHPEDODV�NHEDLNDQ�\DQJ�WHODK�GLEHULNDQ�

GHQJDQ�SDKDOD�\DQJ�EHUOLPSDK�VHUWD�NHPXGDKDQ�GL�VHWLDS�XUXVDQQ\D��7LGDN� OXSD�

SHQXOLV�MXJD�PHPRKRQ�PDDI�DSDELOD�WHUGDSDW�NHVDODKDQ�VHODPD�SURVHV�SHQJHUMDDQ�

WXJDV�DNKLU�LQL�EDLN�VHFDUD�VHQJDMD�DWDXSXQ�WLGDN�VHQJDMD�

%HVDU�KDUDSDQ�SHQXOLV�EDKZD�EXNX�LQL�GDSDW�PHPEHULNDQ�PDQIDDW�VHUWD�LOPX�

NHSDGD�SHPEDFD��1DPXQ�PHQ\DGDUL�NHWHUEDWDVDQ�\DQJ�GLPLOLNL��SHQXOLV�PHQHULPD�

NULWLN�GDQ�VDUDQ�\DQJ�EHUVLIDW�PHPEDQJXQ�GDUL�SHPEDFD�VHNDOLDQ�XQWXN�SHUEDLNDQ�

GL�PDVD�\DQJ�DNDQ�GDWDQJ�
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